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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

I-  Some vegetarians are not just indifferent to meat; they have a/an --- - toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an ------------ in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a ------ imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.

1) vacuous 2) vivid 3) cyclical 4) careless
4-  The singer's mellifluous voice kept the audience --—--------- for two hours.
1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday ---eeeeeeer
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be - to
customers.
I) ingenious 2) intimate 3) discourteous 4) redundant

7-  Although he was found -------nnnn- , he continued to assert that he was innocent and had
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8- The old sailor's skin had become wrinkled and --
sun and the wind.

1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the ------ of the project before investing
their money in it.

1) impression 2) visibility 3) feasibility 4) preparation

10- That is too ---—- an explanation for this strange phenomenon—I am sure there's
something more complex at work.

1) simplistic 2) lengthy 3) profound 4) initial

--- from years of being out in the
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ~==eeemeem-
spatial reasoning, and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ~—=-eeeeeeee
each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by

Mozart, verbal relaxation instructions, and (13) ---===--——--, They found a temporary
enhancement of spatial-reasoning, (14) ----------—- spatial-reasoning subtasks of the
Stanford-Binet [Q test. Rauscher et al. show that (15) ========—==- the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on

12- 1) having experienced 2) afier they had experienced
3) to be experiencing 4) to experience

13- 1) silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

| PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

We study statics to obtain a quantitative description of forces which act on engineering
structures in equilibrium. Mathematics establishes the relations between the various
quantities involved and enables us to predict effects from these relations. We use a
dual thought process in solving statics problems: We think about both the physical
situation and the corresponding mathematical description. In the analysis of every
problem, we make a transition between the physical and the mathematical. One of the
most important goals for the student is to develop the ability to make this transition
freely.

We should recognize that the mathematical formulation of a physical problem
represents an ideal description, or model, which approximates but never quite matches
the actual physical situation. When we construct an idealized mathematical model for
a given engineering problem, certain approximations will always be involved. Some of
these approximations may be mathematical, whereas others will be physical. For
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instance. it is often necessary to neglect small distances, angles, or forces compared
with large distances. angles. or forces. Suppose a force is distributed over a small area
of the body on which it acts. We may consider it to be a concentrated force if the
dimensions of the area involved are small compared with other pertinent dimensions.
We may neglect the weight of a steel cable if the tension in the cable is many times
greater than its total weight. However, if we must calculate the deflection or sag of a
suspended cable under the action of its weight, we may not ignore the cable weight.
Thus, what we may assume depends on what information is desired and on the
accuracy required. We must be constantly alert to the various assumptions called for in
the formulation of real problems. The ability to understand and make use of the
appropriate assumptions in the formulation and solution of engineering problems is
certainly one of the most important characteristics of a successful engineer. Successful
engineers should seize the opportunities to develop this ability through the formulation
and analysis of many practical problems involving the principles of statics.

This passage is mainly about ——-—ceeeeeee,

1) physical situation

2) mathematical description

3) solving problems in statics

4) predicting the effects of physical relationships

Engineers should learn to make ---—---ceeeeeeee,

1) a physical description

2) a mathematical model

3) assumptions depending on the required information and precision

4) a transition between the physical description and a mathematical description

The word “approximations™ in paragraph 2 is closest in meaning to --—----eeeeeeeee,

1) calculus 2) estimations 3) expressions 4) mastications

The sentence “it is often necessary to neglect small distances, angles, or forces compared
with large distances, angles, or forces” in paragraph 2 lines 14-15 is used to prove

1) mathematical models rarely match physical descriptions
2) approximations match physical descriptions precisely
3) the benefit of mathematical models

4) the benefit of physical description
Formulation and analysis of practical problems
1) involve the principles of statics

2) is one important characteristic of all engineers

3) help engineers to solve engineering problems appropriately
4) make an engineer capable of seizing various opportunities

PASSAGE 2:

Ultrasonic testing offers immediate results and a high degree of accuracy for cracks
and internal faults such as gas porosity. The test is suitable for metals, plastics, glass.
concrete and ceramics. Components that are thin, small, have complex shapes or have
rough surfaces are difficult to test.
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Ultrasonic testing involves sending high frequency vibrations (100 kHz to 200
kHz) through a material and sensing their reflections. The high frequency vibrations
are produced by a transducer, which uses a piezoelectric crystal to convert electrical
oscillations into mechanical vibrations. The transducer is placed on the surface of the
material to be tested. Vibrations penetrate the material and are refracted and reflected
at discontinuities within the material. Another transducer picks up the reflected signal
which is displayed on an oscilloscope. The resulting reflection indicates the internal
integrity of the test specimen. Flaws are shown as a peak. the size of which indicates
the size of the fault.

Ultrasonic signals can be recorded if a permanent record is needed. Ultrasonic
testing is also used in high-speed automated productions e.g.. railway tracks.

Industrial faults such as gas porosity can be detected through --—--—ceeeeeeee,

1) ultrasonic testing 2) acoustic monitoring

3) transducer reflections 4) gas penetrating testing

According to the passage, in ultrasonic testing, the transducer converts electrical
oscillations into .

1) ultrasonic vibrations 2) mechanical vibrations

3) discontinuous flaws 4) continuous oscillations

The word "which" in paragraph 2 refers to --—-—eeeeeeeeee,

1) flaws 2) fault 3) integrity 4) peak

We understand from the last paragraph that a permanent recording is ——-——e-eeer
needed.

1) seldom 2) always 3) not always 4) never
In ultrasonic testing ------—eeeeu- is/are used.

1) one transducer 2) two transducers

3) three transducers 4) a number of transducers
PASSAGE 3:

Industrial robots are programmable multifunctional mechanical devices designed to
move material, parts, tools, or specialized devices through variable programmed
motions to perform a variety of tasks. An industrial robot system includes not only
industrial robots but also any devices and/or sensors required for the robot to perform
its tasks as well as sequencing or monitoring communication interfaces.

Robots are generally used to perform unsafe. hazardous, highly repetitive, and
unpleasant tasks. They have many different functions such as material handling.
assembly. arc welding, resistance welding, machine tool load and unload functions,
painting, spraying. etc. Most robots are set up for an operation by the teach-and-repeat
technique. In this mode, a trained operator (programmer) typically uses a portable
control device (a teach pendant) to teach a robot its task manually. Robot speeds
during these programming sessions are slow,

This instruction includes safety considerations necessary to operate the robot
properly and use it automatically in conjunction with other peripheral equipment. This
instruction applies to fixed industrial robots and robot systems only.

The word "peripheral” in the last paragraph is closest in meaning to —--—--—e=eeees,
1) online 2) central 3) irrelevant 4) not central
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We understand from the passage that industrial robots are programmed to do
~memmemneneeeae Unsafe tasks.

1) designed 2) technical 3) repetitive 4) multifunctional

In order to provide connection between users and industrial robots, the robots are
equipped with ——--eeemcmmaeas,

1) tools 2) devices 3) sensors 4) interfaces

Painting and spraying are mentioned in paragraph 2 as examples of -——--eeeeeeeeee,

1) unpleasant tasks

2) robot functions

3) what is done after welding

4) what can be taught by the teach-and-repeat technique

We understand from the passage that during the programming sessions, robot speeds
are slow because —--—-—-—--,

1) of safety considerations 2) of unpleasant tasks

3) they are highly unsafe 4) the control device is portable
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